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HCF & LCM
HedH YHTYAAP U4 aTgaH THTIGE



PRODUCT OF TWO NUMBERS =
L.C.M. x H.C.F OF THE NUMBERS



LCM of Numerator
HCF of Denominatore

LCM of fraction =

HCF of Numerator
LCM of Denominatore

HCEF of fraction =



Ex : Find the lowest common multiple of 24,36 and 407

3Gl: 24, 36 TYUT 40 BT TYTH JHTUGAP JTd DA ?

A. 240
B. 260
C. 360
D. 270



Ex : Find the higher common factor of 108, 288 and
3607
33l 108, 288 YT 360 BT HEUH JHTUAAD JTd B 2



Ex : Find the higher common factor of 513,1134 and

12157
3Cl: 513, 1134 dYUT 1215 BT HEAdH JHTITdD ATd B ?

A. 24
B. 18
C. 36
D. 27



Ex : Find the lowest common multiple of 16,24,36 and
547
3Gl 16,24,36 dUT 54 HT TYAH JHUIAD JTd B ?

A. 432
B. 440
C. 600
D. 700



Ex: Find the least number which when divided by
6,7,8,9 and 12 leaves the same remainder 1 in each

case?

3<Cl: 98 BId! A DIt T-AT ATd B oI 6,7,8,9 9UT
12 ¥ faUTSIfd 1 R uds R A ura garg 2

A. 504
B. 405
C. 505
D. 450



Ex: find the LCM of % 11 and ?

3al: =, OUT > BT AYTH UGS FTd DI 2

A.18
B.26
C.24
D.42



i-A-TE

Ex: find the HCF of % 12 and % ?

32Tl g 12 dYT 2% T HETH HYddP ATd B3 ?

49

A.2/245
B.4/245
C.2/295
D.4/295



EX: Two number are in the ratio 3:4 and the product of their
LCM and HCF is 10800, find the sum of the numbers ?

3aT: & BTSN BT SUTd 3:4 § 94T 9% TYIH GHIUdd P
3R HEWH YHIUAAP $T UIHEH 10800 &, df 98 G- SBT3
BT T JTd B 2

A. 240
B. 260
C. 210
D. 270



Ex: Find the greatest number which on dividing 1657
and 2037 leaves remainders 6 and 5 respectively?
3Gl 98 I91 A I91 HSAT [Td B oI 1657 TYUT 2037
B! fTAUTATd S IR PR 6 AT 5 AT BT 8 2

COowp>

117
131
127
143



Ex: The H.C.F. and L.C.M. of, two nhumbers are 4 and 24

respectively. If one of the numbers is 12, then the other
number Is

<l G=AT3M & HgaH JHTIGA® 3R TYaH THTIG HHTT: 8 3MiX
48 8| Ofe U TWAT 24 8, ol T TX=AT HT 82

A.16
B.8
C4
D.2



Ex:Three bells are played at regular intervals of 45, 60 and 125
minutes respectively. If all three bells ring together on

Monday at 10 A.M., when will they ring together again?
oI feaT pH: 45, 60 3R 125 A & Al 3idvrd W) a8
STt 81 afe di-1 il JHaR & a8 10 99 U A1y §9id] 3,
dl d fibe J v 91y o9 Tuitl?

A. Thursday (same week ) at1 p.m.
B. Friday (same week ) at 1 a.m.
C. Saturday (same week) at 9 a.m.
D. Friday (same week ) at p.m.



Ex: Two numbers are in the ratio 5:11. If their HCF is
24, then the sum of two these numbers is:

&l =AY 5:11 & UG H 51 Ofe SABTH.H.U. 24 §,
2 I GBAT3M BT IRT T &2

A.384
B.408
C.120
D.264



EX: The HCF of the two number is 21 and their LCM is 221
times of the HCF. If one of the number lies between 20 and 30,

then the sum of the digit of the other number is?

Sl H=Te BT HewH THIUAd® 21 § 3R 35T ag«d
THIUG™ H.9.9. $T 221 A1 51 Ife T TBAT 20 3% 30 & o9
g, a1 GIR1 BT & 3P BT AT T 82

A.14
B.17
C.18
D.15



EX: The smallest number which when divided by 18, 24, 38
and 42 leaves the remainder 15, 21, 35 and 39 respectively is

;laﬁ@ﬁzﬂmﬁlﬁm,u, 38 3R 42 ¥ fAuIoid FA WR
9B PHI: 15, 21, 35 3R 39 IICT &; -

A.9579
B.9573
C.9887
D.7305



EX: A, B, C have 152, 171 and 266 marbles respectively. They decide
to divide these marbles in parts such that all parts have the same
number of marbles. Also, they cannot give or take the marbles. Find
the minimum possible number of parts that can be made?

U, o, W A pH: 152, 171 3MR 266 TR 81 9 39 UR/AR] Bl U &

fauTiorg ® &1 fAvfa @ 8 o {6 99yt & 99 9@ | ueR g
21 3% AT, d URR 81 ¢ Jhd 8 a1 A HPbd g | I91¢ Sl Ip+ aral
YT D1 <gAaH SHTfad H2T 1 Diford?

A.23
B.49
C.31
D.196



EX: The ratio of the sum to the LCM of two natural numbers @’
is 7 : 12. If their HCF is 4, then the smaller number is :

gl UTpfd® dEImel & dgaH JHUd™ | IHT &1 3UTd 7: 12 3|
gfe STHTH.I.U. 4 8, Al DICT ST T 872

A.20
B.16
C.12
D.8



Ex: What is the least multiple of 13 which when

divided by 4, 5, 6, 7 leaves remainder 3 in each case?

13 BT gAdH IS AT 8 o 4, 5, 6, 7 A favnfora s

R TP U A AvPd 3 gad1 82

A.3780
B.3783
C.2520
D.2522



EX: The L.C.M. of two numbers is 4 times their H.C.F. The @
sum of L.C.M. and H.C.F is 125. If one of the numbers is 100,
then the other number is-

&l GBS BT TYIH JHTITY 3P Hedd THTIGA BT 4 AT
2| TA. . uH. 3R vu. A .uw. &1 9l 125 g1 Ufe Ueh TW=AT 100 T,
al ORI ST T 82

A.5
B.25
C.100
D.125






